7 = ({10} W) 'H sny],

e Qe Z—— ({10} W H 5 0

c— ()H = ({101 H 5 {10 W'H < (W'H < {1°0)'H—

——

X
9e —— e
(X)) ——— (V)7
e
(V)% ——— (X)% .
Jol e ©© (V)2 “0)%e = (le])ye st yeuL

ey

(V)40 3 0@ pue (x)%) > o woy) (¥ ‘X)"H 2 [o] I

= (W) H e (VX H e (X)) H o (V)*"H
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The following diagram does NOT commute:

Opi1 8
—  Chi1 & >‘ C, L » Cmp —
L ‘o ol »
Lt fn—i—l gn+1 }'nfﬁo'&,{ fnl an K/ frn=1!19n—1 Lt
h A
On+1 )
— Dy " D, " 5 Dpq -

The chain maps f,, g, : C, = D,, are chain homotopic if
1K, : C,, — D, such that
6n+1Kn + Kn-—lan — fn — GOn

Claim: f, = g, : HC — HP

Proof: If & € ZY, then da = 0.
On+1Kn(a) + Kpo10n(@) = fala) — gn(a)
fa(@) = Sne1Kn(@) + gu(@)

[fn(@)] = [0n+1Kn(e) + gnla)] = [gnle)]

Thus fi(a) = g«(@)



